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CHILD DEvaPmT AND TEACHING METHOD '
1. Kohler is associated with which of the

1. Wﬁwﬁmqﬂﬁﬂt? Kohle:
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‘D:g’_‘ms the experimentee in whose
experiment ?
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10.

Factors affecting the social development
of children are

(1) Economic elements

(2) Hereditary elements

(3) Physical elements

(4) Social environmental elements

Which of the following is a primary law

of Physical Development ?

(1) Law of difference from mental
development

Law of relation from imagination
and emotional development

(2)

Law of rapid growth ¢
Law of irregular development

@)
(4)

Which of the following is not the theory
of development ?

(1) Theory of Conditioned Reflex

(2) Theory of Uniform Pattern

(8) Theory of Interrelation

(4) Theory of Continuous Growth

“Development results in new
characteristics and new abilities” this
statement is given by

(1) Gessell

(2) Douglas and Holland

(8) Meredith

~(4) Hurlock.
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(1) 70-79
(2) 110-114
(3) 90 - 109
(4) 80 -89
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otelligence :
1.O. Level efavefﬂg"’";t:mg &
children will P€ petwe® 19,
a) 70-79

(2) 110-114

(3) 90-109

(4) 80-89 .

o on o ERe fal_lowiﬂg-ha? Propose
Who among X\ ogel of Intelligence
(1) Cattell
(2) Skinner
(3) Vernon
(4) Thorndike
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OperantCndItmmng Theory is

propounded by
(1) Hull
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20.

21.

Which of the following is most essential
for learning ?

(1) Motivation

(2) Guidance

(3) Maturation

(4) Interest+

The period of infancyhood is
(1) From 12 years to 18 years
(2) Upto 15 years

(3) From birth to 6 years

(4) From birth to 2 years.

Through his experiment Kohler wanted

to prove that learning is

(1) The perception of whole situation

(2) Human learning is purposeful

(3) Better in animals than human
beings.

(4) An independent activity

Who propounded ‘Five Step System’ of
lesson planning ?

(1) John Dewey

(2) Bloom

(8) Kilpatrick

(4) Herbart:
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What kind of adjectives are used in the

following sentence ?
A live ass is better than a dead lion.

(1) Descriptive
(2) Quality
(3) Indefinite

(4) Quantity
the following has been

(91 entrance

2l

67.

68.

69.

- 70.

The sentence : “ This is the house in
which 1 was born”, is

(1) A simple sentence

(2) A compound — complex sentence
(3) A complex sentence

4 A compound sentence

Fill in the blank :
‘The objection was met out
the lawyer’.

(1) with (2) from

(3) by (4) to

Fill in the blank :

. of playing, the children

went home”.
(1) Being tired
(3) Having tired

(2) While tiring
(4) On tiring

Join the following sentence to make a

simple sentence :

-The coﬁ'cc isn’t too strong. It won’t keep
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Death lays his icy hand on Kings: (3) Meek i tace (1)
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& gp, Theidiom ‘To ring one’s own bell’
means
(1) to think properly
(2) to indulge in self praise
(3) to commita theft

.’ll:)uIl |
(4) to be one’s publicity agent

y f()n‘

Direction - Read the passage below and answer
the questions that follow (Q. No. 83 to 90)

by selecting the most appropriate option :
mayestﬁfday They were captivated
eeRd. As and showmanship of

1ple o

a gasp of astonishment or the
applause, appreciating
1gic wand came flowers,
f every possible colour

hﬂld 3

es of
great engtr
1at everyone was left

@ft as ng children came

83.

84.

85.

86.

87.

What does ‘encore’ mean ?
(1) Never (2) Now
(3) Once more (4) Try

What did Kim do in the end ?

(1) Performed the act once again
(2) Sat down

(3) Never performed the trick

(4) Smiled and disappeared

What does ‘Century’ denote ?
(1) A period of one year

(2) A period of hundred years
(8) A period of fifty years

(4) A period of ten years

What is the magician’s name ?
(1) M. G. Vidyalaya

(2) Kiran Rathod

(3) Kim Rathod

(4) Ravi

What is the meaning of ‘captivated’ ?
(1) Astonished

(2) Angered

(3) Arrested

(4) Honoured

What is the meaning of ‘spontaneous’ ?
(1) Happening suddenly
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3) 2

4) 7 96.

January 5, 1991 was a Saturday,
what day of the week was on
March 3, 1992 ?

(1) Saturday

(2) Tuesday .

(3) Sunday

(4) Monday
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95. Arrange J3, %4, 45 in ascending
order.

(1) J3,%4,%5

(2) None of these
(3) 45,%4,43
4 ¥a,3,45

96. Which measures of central tendency
get affected if the extreme observations
on both the ends of a data arranged in
descending order are removed ?

(1) Mean and Median

(2) Mode and Median

(3) Mean and Mode

(4) Mean, Median and Mode

1be of side 5 cm is painted on all its
If it is sliced into 1 cm?® cubes,
ubes of 1 ecm?® will have

' their faces painted ?
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99.

100.

in the mud. When ﬁ
3)3, ThH3

4 of a pole 18
meter long piec 217

7
8

it is pulled out, Ly
the pole still re s in the mud. W} AT
is the total lensfih- of the pole ? (1)
(1) 21 metre @)
(2) 12 metré
(3) 30 metre (3)
(4) 25 metre

(4)

A and B can do a piece of work
BandelSdays,Ca;

12 days,

A in 20 days. How long would A tapg,
separately to do the same work ? 7
(1) 10 days (
(2) 40days (
(3) 30 days (
(4) 20 days (
L el r

33’55’22
() @ 330
330 v e



103. A square and an equilateral triangle
have a side in common, If side of triangle

is 4/ cm long, find the perimeter of the
figure obtained.

(1) chm
3
2) slem
3
(3) 16cm
9
(4) l—q[£+1]cm
9| 4

104. Which of the following numbers is
divisible by 99 ?

(1) 114345
(2) 3572406
(3) 913462
(4) 135792

What is 7 ?

(1) Rational number
(2) Integer

(3] orime number
(4) Irrational number

105.

l@a‘**‘ 125, then va.lue of 10-2¢ is
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5oaa’rémqgﬁﬁﬁuwrs&?ﬂﬁw%
(1) 14 (2) 25

(3) 16 (4) 15
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(1) 43,8 @), 2T 2

(3) 14,5 (4 11,9

(2) 12 cm
(4) 8 cm

108.

109.

110.

111.

The number of -paaiﬁive prime intﬁ
< 50 is 2
(1) 14

(3) 16

(2) 25
4) 15

of two numbers is th
times the smaller
times the larger 14

malleris 71. What

Twice the larger
more than five
the sum of four
three times the S
the numbers ?

(1) 43,8
(3) 14,5

17, 1
11,9

(2)
(4)

A square with a side of 8 cm anlS:
rectangle with length 16 cm he
same area. What is the breadth of!

rectangle ?
(1) 4cm* (2) 12 em
(3) 6cm (4) 8 cm

2

If cost price of an article is El of its

s.eilipg price, then profit or 1%33
percent is
(1) 335%profit

(2 331 profit



1€ integ, ﬁ

ers is th;
Ena-ller ay
lal'ger a;
. What 5

113.

114.

(3‘78x2363459x312}%}mﬁ
g 7 37 BT
(1) 6
@ 2

(2) 4
(4) 8

ﬁ-qaﬁq,ﬁ'q;[quﬁ 4.5 ®, Al 3G WIS
1 8m ¢

5,7,7,8 %543 1,2

(1) 5.5
(3) 5

(2) 4.5
@) 6

113.

114,

115.

116.

Digit of unit place in the product of
(378 x 236 x 459 x 312) is

(2) 4~

(4) 8

(1) 6
3) 2

What will be the median of the given
data if the mean is 4.57?

5,7, 7, 8,%, 5, 4,3,1,2

(2) 4.5

4) 6

(1) 5.5
3) 5

Most important person, related with
the method of ‘Analysis of Variance’ in
Statistics

(1) R. A. Fisher
(3) Laplace

(2) Newton
(4) Gauss

D, E, F are respectively the mid
points of A ABC. Which of the
following statement is correct ?
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(1) 200 m2
(2) 75m?
(3) 100 m?
(4) 150 m?
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. nce and the product o
b gleffzr:re 5 and 36 respectively. T}
nthu:tiliﬁerence of their reciprocals is
5

(1) 3"6

23.
(2)

(3)

00‘0) O |t | \0
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(4) 24

Who was the self taught Indian
mathematical genius in 20" century
(1) Aryabhatta

(2) Harish Chandra

(3) Srinivas Ramanujan

(4) Shridharacharya

25

The area of four walls of a room is
6f'30 m? and the length is twice its
width. If height of the room is 11 ™
then area of its ceiling is

(1) 200 m?
(2) 75 m2
(3) 100 m?2
(4) 150 m?
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121. Haita® aaﬁrf;ﬂ; arft St 121. Most Biodiversity is found in

(1) tg:’iq ﬁﬁﬁ (1) Flower’s Valley .

2 ! (2) Dorang Valley

(3) W (3) Silent Valley

(4) qEnudd (4) Surma Valley
f tw, 122. T diSi & 6 122. What is not true for LPG ?
Theg \ (1) A clean fuel

(2) Methane emitting.
(3) Burn with blue flame
(4) High calorific value

J 123. The components of the ecosystem are
aningity - o (1) Plants and animals
-t (2) Producers, consumers and
‘decomposers -
\ (3) Producers and consumers
- (4) Biotic and abiotic substance

pic of Capricorn is

@) 23°S

e 1°
4 23— N
4) 35
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on per unit area rec;
it of atmospher

AT
T
(1) 1
(2) 1
(3) 1
(4)

=i

(2)
(3)
(4)

)
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133.

132. The main atmospheric layer near the
surface of earth is
(1) Stratosphere
(2) Ionosphere
(3) Mesosphere
(4) Troposphere -

133. The Biodiversity Act was passed by the
Indian Parliament
(1) 11* May, 1972
(2) 11" December, 2002
 (3) 16" October, 1990
(4) 10" December, 1980

134. Which one of the following agriculture
practices is eco-friendly ?

(1) Shifting cultivation

(2) Organic farming

(@J] Cultivation of high yielding

~ varieties

) Growing plants in glass house

ed with presence of
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‘bet in India is 7.

(2) Indus
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145. Where is the Wild Ass Sanctuary ?
(1) In Rajasthan
(2) In Bihar
(3) In Madhya Pradesh
(4) In Gujarat

146. Carbon dating refers to
(1) Measurement of strength of rocks
(2) All of these
(3) Use of carbon for writing on white
board
(4) Measurement of age of bones or
materials in ancient sites

147. The Constituent Assembly adopted
National Anthem on
(1) 20 January 1950
(2) 13 November 1949
(3) 21 May 1949
(4) 24 January 1950

148. Biomagnification is
(1) increasing concentration of a

A~y
5 |

substance in the tissues




